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5. Two conducting spheres with diameters of 0.400 m and
1.00 m are separated by a distance that 1s large compared
with the diameters. The spheres are connected by a thin
wire and are charged to 7.00 uC. (a) How is this total
charge shared between the spheres? (Ignore any charge
on the wire.) (b) What 1s the potential of the system of

spheres when the reference potental 1s taken to be V= 0
at r = o7
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27. Find the equivalent capacitance between points « and b for

the group of capacitors connected as shown in Figure
P26.27. Take C; = 5.00 uF, Co = 10.0 uF, and C5 = 2.00 uF.
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Figure P26.27 Problems 27 and 28.
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29. Find the equivalent capacitance between points a and 5 in
the combination of capacitors shown in Figure P26.29.

/\ 6.0 uF

Figure P26.29
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31. (a) A 3.00-uF capacitor 1s connected to a 12.0-V battery.
How much energy is stored in the capacitor? (b) If the
capacitor had been connected to a 6.00-V battery, how
much energy would have been stored?
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43. Determine (a) the capacitance and (b) the maximum
potential difference that can be applied to a Tetlon-filled
parallel-plate capacitor having a plate area of 1.75 cm? and
plate separation of 0.040 0 mm.

/16 I = oo
a) dﬁiw/’ G- ( /
o 4 .

'C" G”}T‘ /41 A = /-7S = =7
b il e e = é,,&_,:g-(oxa’»agx,;"—x [FS ¥ /o
= €5 s £ = 92 bE Sl b
diae A0 S ks TS S Lo Fable 26
b) I/V'M7 — =

Ve e Vw%(: Ewa/: Egiie sHE Dkl



49. Each capacitor in the combinaton shown in Figure P26.49
has a breakdown voltage of 15.0 V. What 1s the breakdown
voltage of the combination:

90.0 uF 920.0 uF
| _ |
10.0 uF
90.0 uF 920.0 uF

Figure P26.49
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